




5 ● 5 =
6 ● 8 =
14 : 2 =
15 : 5 =

6 ● 7 =
12 : 4 =

81 : 9 =
7 ● 7 =
6 ● 4 =
6 ● 3 =

2
54
8
7
3
3
4
294
92
41
8









63                                

63                                



24                                

24                                

36                                

8                                
6                                

5                                



6 М

6 М
8 М

9 М

48 М2

81 М2





ВРЕМЯ
РАСХОД 

ТОПЛИВА 
ЗА 1 ЧАС

ОБЩЕЕ 
КОЛ-ВО 

ТОПЛИВА

3 Ч 27 Л 100 Л



19 + 17 ● 3 – 46 =

19 + 17 ● 3 – 46 =12 3



54 – 26 + 38 ● 3 =12 3

54 – 26 + 38 ● 3 =



48 : 2 + 60 : 2 =

48 : 2 + 60 : 2 =1 23



(19 ● 5 - 5) : 30 =

(19 ● 5 - 5) : 30 =1 2 3



16 :1 - 0●9 - 2 ● 8 =1 2 34 5

16 :1 - 0●9 - 2 ● 8 =



100 + (4 - 4) ● 8 – 9 ●9 =

100 + (4 - 4) ● 8 – 9 ●9 =1 2 34 5



(24 : 3 + 8 ● 8) : 3 ● 3 =
1 23 4 5

(24 : 3 + 8 ● 8) : 3 ● 3 =



8
5

2

91

6

43

7








